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Question Number : 1 Question Id : 3419798150 Question Type: MCQ Option Shuffling : Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The number of possible geometrical isomers for [Pt(NO,)(C3HsN)NH,OH)] ™ is:
[Pt(NO,)(C3HsN)(NH,OH)[” & %ﬁa&ﬁ: :s-gffcédfc %d@waﬁa 2
Options:
¥
1. =



Question Number : 2 Question Id : 3419798151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
X o 4 Ty ot | ? 2 2 L
The order of stability of complexes of Fe*. Co™ . Ni*". Cu”" for the given ligand is:
g T8 b . =
BSt20éS Orro& & Fe'', Co™ . Ni', Cu™ & Sofare RS EDo:
Options:
>+ - I T O
1 Fe& =Co™ =Ni" =Cu

M4+ - - v 2 2
o Fe' =>Ni” >Co" =Cu

T4

, FORRRIT NI,
= Cu” >Ni~ >Co~" > Fe

2+ N3 )
, Cu”™" > Co™ > Fe* > Ni’

Question Number : 3 Question Id : 3419798152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following complexes do not obey Effective atomic number rule ?

808 SoRres® (erds SCTren Jogry JoHHoSH FHoID D ?

iL[Ct(NH;)s]?™ ii. [Ni(NH;3)]*" iii. [Co(NH;)s]*™ iv. [Pt(NH:)s]*
Options:
, 11, 1v only

. L 11 111 only

5 1vonly

, L.iionly

Question Number : 4 Question Id : 3419798153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The d orbital imvolved in hybridization of orbitals of Fe during the formation of Fe(CO)s
is:

Fe(CO)s 2SS Fe ediry Sogbsmo &° &E‘E':éa d edyers



4dx2-y2
4, :

Question Number : 5 Question Id : 3419798154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The pair in which both the molecules have same magnetic moment:
- % J ;
2.8 e;cﬂ:o:ﬂa_cé [PH80 S 5"&%{3&“5& EOENY L B[O

Options:

[Cr(H,0)6]"". [CoCL]™

1.

, [Cr(H,0)6]"". [Fe(H20)s]*
s [Mn(H,0)6]™", [Fe(Hy0)]™

4, [CoCLT™. [Mn(H,0)]

Question Number : 6 Question Id : 3419798155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which one of the following 1s not coloured?
Bod >ES° Sord 828 b ?

Options:

. [Ti(H0)s]™
, [Co(H20)6]"
2 [Cu(H,0)s]"

\ [Sc(H0)s]

Question Number : 7 Question Id : 3419798156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

solvent

HgR, + Mg =— MgR, + Hg

The solvent used in the above reaction is:

ARG
HgR, + Mg —= > MgR, + Hg

2 adtabds J6E° aI@rAotud (oS
Options:
Ethanol

28T
Jiz

Methanol

. DETS

Benzene
n FokS

Ether
4 360

Question Number : 8 Question Id : 3419798157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The number of bridging carbonyls present in Fe;(CO)y; is:
Fe;(CO)yp &° IS 8 sﬂd‘i}g@ © S0
Options:

1

e "
:} -

1.

Question Number : 9 Question Id : 3419798158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which one of the following 1s nido-carborane?
8ol FES° OE°-s678S & ?

Options:

s C>BioHin

, C2B4Hs

C*:B?Hl_i,

. C2B1oHio

Question Number : 10 Question Id : 3419798159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which one of the following is correct?

Bod >ES® SBIB b ?
Options:

VO,™ is hard acid
) VO, 883 o
Sc** is soft acid
Se™ S spo

2,

CO 1s hard base
CO 283 ,_egfdc:}

ROH i1s soft base
ROH é};,cﬁn e300

4

Question Number : 11 Question Id : 3419798160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The crystal field stabilisation energy for high-spin d* octahedral complex is:
©O¥ [SDe 4 «FEE(ES Sofgo Sug) I8¢ B #BsSe 38

Options:



N -6 Dq

, -12Dg
5 -18Dq+P
, -16Dq+P

Question Number : 12 Question Id : 3419798161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
5 NN NH

i B — X —- ¥

. o Ny GH,
i. [PICL]7 — X — 7
In the above reactions Y and Z respectively are:
RS IS Y HESH Zen SOHrr
Options:
trans-[PtCL,(NH;),]. trans-[PtCL(NH;)(C>Hy)]
'@J"S@ -[PtCL(NHs3)2]. &  -[PtCL(NH;3)(C,Hy)]
1

H’HI]S-[HC]E(NTI_:,)Z]. ClS-[PtClg{NHg)[CgH:l)]
@FS&-[PTCIQ(NH_@)}]. 2 -[PIC]Q(NI‘I}.)(C;E}]
2.

c1s-[PtCl,(NHj;),]. trans-[PtCL(NH;)(CoHy)]
N &S -[PtCL(NHs),]. &  -[PtCL(NH;)(CoHy)]

cis-[PtCL(NH;)]. cis-[PtCIy(NH;)(CoHy)]
&8 -[PtCL(NH;3),]. cis-[PtClL(NH;)(CoHy)]

4

Question Number : 13 Question Id : 3419798162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



‘X’ 1s an essential trace element. Its use in industry (particularly electroplating) causes
severe water pollution. What is *X’?

X o8 eI55E Srefo, SHEDeS” a &i&rro (Spgorr ETIS0)
8|53 DS srorgrd) FennSHod. X 28?

Options:

Fe
1.

Cu

Co

Ni

Question Number : 14 Question Id : 3419798163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Identify X and Y in the following reaction sequence.

Bob S35 IEES® X DBt Y ob MHFoSos. .

: dal. HQSD4 - xX : - Bl‘z 'NaOH Y
CgHg She 1150, PhCHOHMe ——» PhCOMe Gl
Options:
X Y
,  mCPBA PhCOCH;Br
X b
. H,CrOy PhCOOH
X Y
H>CrOy PhCOOBr
=
X Y
KMnOy PhBr



Question Number : 15 Question Id : 3419798164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Observe the following tetrahedral intermediates that are formed when nucleophile attacks

acyl carbon of various carbonyl compounds.
DHE 267208 TP FTS™D S S O iSRS & IOIHPD AWBS
Bod Bar|td DEFOD KADHIoTos..

e (o S
- 0 0 0
R—C—Nu R—?—NU R—Q—Nu R—F—Nu
H = Cl NH,
I 1 1l Wi

Which of these intermediates will lead to a substitution product ?

AES® Q@ DR FEEDS ad) T8 8 830b ?

Options:
, m. 1Iv

I I
2,

o 1V
o
7 II I, IV

Shoie Line Ouestion Opion: No Option Oriestation - vertin 0 opiion Shuffling: Yes bisplay Question flumber s Yes

Correct Marks: 1 WrongMarks: 0
The product of a nitro compound A (C3H;NO;) and nitrous acid. does not dissolve in
sodium hydroxide. Nitro compound A gave B when reacted with NaOH followed by
H,SO4 Isomer of A when reacted with HCHO/ NH4C1 gave C. Whatare B and C?
28 S¢5° S FSo A (CHNO,) 5805 J0T sPo Sug) & o V&aHo
TEF)E &° 5D, JE° STyFSo A H NaOH H805 Sthares HySO48* 583
3OS B SO ad)o0d. A FEF50) HCHO/ NHCL8® 65 8605m C & adobd.
B 58050 Cen o ?

Options:



B C

CH;COCH:; CH;CH>CH(NO,)CH,NH>
B C
_ CH;CH,CHO (CH;),C(NO,)CH,NH,
B C

CH;COCH; (CH3),C(NO»)CH:NH;
=

CH;COCH; CH;CH,CH=CH,
4,

Question Number : 17 Question Id : 3419798166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

An organic compound X dissolves in dil. HCI but does not give IR absorption band in
the range of 3500-3400 cm’. where as compound Y does not dissolve in dil. HC1 but
displayed IR absorption band at 3500 -3400 cm™. Identify X and Y.

28§ S FSo X 9O HCI &° 88008 50 3500-3400 cm™ £8658° IR
Fhee OG0 aSgy wowd IYFJo Y HOS HCI&° 6t 520 3500-3400 cm™ 8¢
IR 5560 S¢0 (260)Hod. X SHoch Y o MEosos.

Options:

X T

: NH, : _CONH,

CONHMe

=
=
&
(N
; ¥



UCONMEE @/\NHE
4. NF

Question Number : 18 Question Id : 3419798167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Solution of ZnCl, and conc. HCI turned cloudy on heating with an alcohol ( A). A

on reaction with PBr; and then with the reagent B is converted to C (major). which
on reduction gave D. Whatare A, BandD ?

ZnCl $8csn ¢ HCl (reorQ) sepstd (A) 8° 38 Sodre b D38
S808. A PBry; H80%n SSHarsS B sedso S° S S BESP C(E‘E@:S).rﬁ
S Fobod. CH Eonsseo JaHm DD 29108. A, BHdcSu Dew 28 ?

Options:

A B D
CH;CH,CH.OH NaCN CH:;CH>CH>NHCH;
A B D
CH;CH,CH,OH AgCN CH;CH,CH,NHCH;
2.
A B D
_ CH;CHOHCH; AgCN (CH;),CH NHCH;
A B D

, (CH3)sCOH NaCN (CH;3);CCH,NH,



Question Number : 19 Question Id : 3419798168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Identify the statement that is NOT correct from the following

Bod DSCeS® SBRIE 0 Q) MHEoSos.
—_— =

Options:
Benzene free from thiophene is obtained by shaking the mixture containing both by

conc. HNO;
[oES HBAH FBeEHS DFSR) e HNO; S° AwsBossEo Ny BBrdS

, B0 TokS 0dHod.

Pyrrole resembles aniline m reactivity

. I ESTS® 866 QDS I T eoenod.
Furan is less aromatic than pyrrole.
2 &S ) Troes SED.S A6°S5elE Segrsso Eeb.

Pyridine resembles nitrobenzene in reactivity towards electrophilic substitution

Qe &0F (S8ESe IE8° 28AS Ioogf)ES JiS° JodS O 90

4 S0Lnoh.

Question Number : 20 Question Id : 3419798169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Which of the following represents the structure of D-Mannopyranose ?

Bod >BS* A8 D- SSREST Jom ey SHH0S ?

—

Options:

OH

HO OH

OH



OH OH

D,
HO
. oH"OH
OH
HO Q
OH
] o °oH
4.

Question Number : 21 Question Id : 3419798170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The amino acid containing guanidine group 1s

MBS JHTTo DA &F) ADS® 8o
S A 22

Options:

Lysine

ol N

Valine

, 3OS
Proline

rdS

Arginine
OGS
=3

Question Number : 22 Question Id : 3419798171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following molecular orbital represents excited state HOMO of 1.3-

butadiene?
LY . = - . e \ ! .
508 @ wen 8 S 1.3- angldorrs &828 J°00 HOMO & S308ed ?

Options:

'l
5308
e
o T

Question Number : 23 Question Id : 3419798172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The major product from the following reaction is

Bob ¥Eg Hod 336;,3 SeS agif0
I'S
Meso-2 3-dibromobutane ——» ?
RE-2.3-8 5 Sre0gSS

Options:



Br

A~

4.

Question Number : 24 Question Id : 3419798173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following represents functional group interconversion (FGI) ?

8od ES® B (SDoD SHEE0 wosd JBSER) SrdPod (FGI) 2

g CHs; CHa
— ©/ In. ©/ —_— @ + CHsX
OCHs5 OH Cl OH
©/ + (CHEJESDJ_I V. — @/\

Options:

II. III
1.
. I III
5 L /
4 I, IV

Question Number : 25 Question Id : 3419798174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following will give doublet and a quartet in "H-NMR spectroscopy ?

Bod 835° @& 'H-NMR ¢ 5005° 488 58 5238 & apod ?
Options:

Ethyl chloride

8838 Do

Acetic acid
, 585 £38



Ethane
] &8s

Acetaldehvyde

, RTETRRG

Question Number : 26 Question Id : 3419798175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The number of carbon atoms present in a compound, whose mass spectrum showed M at
m/z 86 ( % RA 50) and M+1 at 87 (% RA 2.8).
(B35 o8 SE Hwos”, o 530:1“*}0’0 M m/z 86 58 (% FDE $H)ES 50)
HBD M+1 S 87 3G (% FDE IHES 2.8) 508, IS* &) =S
SESTERg e ;G.os;::g
Options:

1.3

Question Number : 27 Question Id : 3419798176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Match the following

@c:&: 8D m8 IH8T0d

List-I s=&e=-1 List-II  ss=&ex=—II (cm™)
A PhCOCH; I Li25
B PhCH,OH I1 1760
C PhCH,CHO I 3330
IV 1685

Correct answer 1s
08 BoNI HDTPERI0

Options:
A B L
. JAY I I
A B B
JAY Im 1II
2
A B -
I 1 1
3
A B C
I IT IV
4.

Question Number : 28 Question Id : 3419798177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In a conductance cell. the dimensions of the electrodes are 1 cm and 1.5 cm and the

two electrodes are separated by 0.5 cm. then the cell constant value in cm™ is.

28 QISP HTE HowS® Jo § 80 g TES. Sene Fodew SHJ

]l 20.80° 58050 1.520.80 e 408 oo¢d S ETES 0.5 Do. & e00SS®
St BooE Dend 0.8 od®

Options:

) (e

. 0.33

Question Number : 29 Question Id : 3419798178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The molar conductances of sodium acetate. hydrochloric ac1d and sodium chloride at
infinite dilution are 91.0 x 10*. 426.16 x 10* and 126.45 s.m’mol ™, respectively at
25°C. The molar conductance at infinite dilution for acetic acid is

25°C &sL((S 5§ TSacho QbES, TpE 5o HBoke JacHo 588
DT FESen em&::é &J&SG 3§ S5 91.0x 107, 426.16 x 107 HBco
126.45 355 o=, 35 @':b:lcsh ©I08 HOI0 I ARsTaHDo o8-

IS SN (&@Sm 36 06
Options:

1.461. 61

, 390.71
. 64361

. 210.70

Question Number : 30 Question Id : 3419798179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



An electro chemical cell i construct by combining Ag and Cd electrodes. The standard
reduction potentials of Ag and Cd at 25°C are + 0.80 and - 0.40 V respectively. Which
of the following statement 1s correct?

B HBow sgBoNo Qo EOD 508 oE AmgS ETONS PR ST
FRT. 25°C g degd SHdom sgdodo Ao Elo RE), (BT KoHEsen
FBYHE Densen SHHE +0.80 HBALY - 0.40 V esonSiS® Bod FES°
$BERIB.
Options:

In electrochemical cell reaction Ag becomes Ag” and Cd*™ becomes Cd

a0 BTCHS Soersns® B8, Bes woSrD Héoe Cd® woseS Cd
1 P IS on.

' Both Ag and Cd electrodes undergo oxidation reaction

S0l SHBoM™ seg&)oDHo Ao §5&en @ér:jgdmc} Toe=on
B e = ot

In electro chemical cell reacting Ag” reduces to Ag and Cd oxidises to Cd™
DERS EFoHS FoereHos* &@55 30, &@55’?& EDHESE0 SHBAI

2 ?5&,30530. ?5&20‘5}9 BSOS TP E—%&é’ﬁme Dofoaeo.

Both Ag and Cd electrodes undergo reduction reaction.
08 HOSH sos&)o%0 e § Gen FoHEmo Sodherow
iy o D B L,

Question Number : 31 Question Id : 3419798180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

L 1 :
The rate constant value for the decomposition of gaseous NoOs = 2NO; + = 0, 15

5x 10* S, Calculate the time required for the N,Os concentration to be reduced to
10% of the original value.

N,Os — 2NO, + %ozm DSrro T8 I3 SwE), Seo &oroa 5x10* S
WONTT®, NoOs SBg) PES, STOrRESS® 10%  S~6EQ8 SPscd DEDHOS®

Options:

, 46X 10°



4.6x10°
2

. 5.93x 102

, 5.93x10°

Question Number : 32 Question Id : 3419798181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Persulphate — Todide reaction follows second order kinetics. The units for the rate of

the above reaction 1s

SEBE - wJrgle Dy 887R 385 HAECD ESToEI0D Jeod. eonSS®
e I8 S Bew (Seegeen

Options:

; dm?®. mol™. s

mol. dm?. s

2

s dm®. mol?. s™

¥
4 3

Question Number : 33 Question Id : 3419798182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

- 3.100 J.mol™ work is done during the conversion of one mole of water at 100°C to
steam at 1 atm. pressure. Heat of vapourisation of water at 100°C is 40.670 J.mol ™.
Change in internal energy during the process in J.mol™ is

100°C &5 HBc%o 1 i) BESH S§ o8 Ird A wjor HEIHD -

31000 &6 -3 o S0 8ASH. 100°C ¢ I8 =8NS o 40,670
o =1 i N

FTE.3r6  sonSS B [HENS” wosES FE W) S FTEITS  ©S°

Options:

; 0

, 43,770



-13.1
3.

, 37,570

Question Number : 34 Question Id : 3419798183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Joule — Thomas coefficient. py.1 1s defined as

TE - DS Heagao, 1yt D (808 dForr AELDL.
Options:
(GE

."-'__-___
Ty | D
RS

Question Number : 35 Question Id : 3419798184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The efficiency of an engine operating between 110°C and 25°C i1s

110°C HBo 25°C © Hfy SOToM agiodolSedn Bwg) eEIEES
Options:

 17.7%
, 28.5%

. 22.2%

, 77.8%



Question Number : 36 Question Id : 3419798185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The molar extinction coefficient of phenanthroline complex of iron (]|) 1s

12.000 dm® . mol™.cm™ and the minimum detectable absorbance is 0.01.
The minimum concentration of the complex in molarity that can be detected in a

Lambert-Beer law cell of path length 1.00 cm is

0[SOS — 083 (]]) Sofatn g Jrerd e Headah dens 12000
Zoores 38 R0 HBCSH 5250 dgedoS Folerossm 0.01
ORI’ 28 R0.A° 5708 (SofredoT drEn Ko oronf - B8 daHebHasn
803 BES® dgrdod JoRH g SIS MES Dens Inc-bds®

Options:

, 833x107
> 120

2 12x10°

, 0.01

Question Number : 37 Question Id : 3419798186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The quantum yield of the following reaction 1s

2H M H 41,
2HI VS Ho 1, o 58 555 S sgowo GES
Options:
<1
5 Iz 10°

. 1x10°



4 2

Question Number : 38 Question Id : 3419798187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The selection rules for spectral transitions in atomic spectra are (1) An=1.2.3.4....
And (11) AC = 1. Using these selection rules. determine which of the following
transitions are allowed

SESTERSEHE0 [HEGOSO8 () An=1,2,3,4.... B (ii) AL + 1 DoHtren
SEOAIHD @ ($0d JBIETen eIrbSDIeow ?

Lis—2p IM2s—3s HOI2p—>3s IV. 4p — 51
Options:

L 1&I
, [&III

&IV

, D&M

Question Number : 39 Question Id : 3419798188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following spectra are shown by molecules when vibrational motion 1s

accompanied by a change in the dipolemoment of the molecule?
EHEDIT &, E’:goééﬁ DSOS &8 e, B8 &:5@;,5 @woﬁaé}'jw STBIRoNSE =
9E0Jen (DEBIOT SFHera

Options:
Microwave

e s E:’m,_%édoﬁ

1.

Raman

5 O



LR
3 QVOEED

) uv-visible
wBloS ErS — HATSE
4, e n

Question Number : 40 Question Id : 3419798189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The organic compound with molecular formula C3Hg shows only one NMR signal is

28 ST Sorgho g esew FEyo= CiHs wow NMR S HHS® 28 o8
&ﬁ;ﬁ:ﬁs 2N

Options:
cyclo propane

1 Eﬁ@"ﬁ;a

l-propene |

14

n-propane

N4 ?%5

cyclopropene
Eﬂ@“‘ﬁs

Question Number : 41 Question Id : 3419798190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

With respect to all alkali metals, which of the following is not correct?

@) 56 SFe SGorr, Bod FES® 5BI8 086 b ?
Options:

react readily with water and liberate H,

1:‘:‘)&3 $° J063 IE5ST0d 0, D DG JcHod



react with nitrogen and form nitrides
:"T.E 5 & | E. 5 - r“- L
| 35S & 55508 JFheD DSV oD

dissolve in mercury
, FEES0 8° ESirHeron

soluble i anhydrous liquid ammonia
BT (55 @I AT S° SHOSow
4, ) =

Question Number : 42 Question Id : 3419798191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In which of the following reactions of N.Hy., N, 1s not evolved?
8ob @808 NoHy < 5&:&?’5. Ay 1‘565@'5 N» e 981 2

=¥
Options:

) NoHs+Na —
5 N-H; + PtCly —
. N:H4+ 02 —

L NoHy + 105 —

Question Number : 43 Question Id : 3419798192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Zircon belongs to which type of silicates?

BONS @ O8Y BOES 7
Options:

Chain silicates
| Frenly RO8w

Ortho silicates

=8° HOBew
2. o] G



Pyrosilicates

5° BOEL
3.

Cyclic silicates

, r.fl;_gcf‘ii OB

Question Number : 44 Question Id : 3419798193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following metals react with dilute sulphuric acid and give H> gas?

Bob @ S5 Jme Sengds wfo & IGp Tob 0, oY DD ?
1.Cu 1.Fe 11.7n

Options:

1

5 11, 11

z 1111

43, 904

Question Number : 45 Question Id : 3419798194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
. The number of amphoteric oxides in the following:

8o Fe3&® AN “5)8 © So8g.
CO,. SN0, NO,. ZnO. SnO. NO. CO. V,0s. Al,O;, CrO5
Options:

1.

Ll

4 4

Question Number : 46 Question Id : 3419798195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Which of the following are the properties of imterhalogen compounds?

Bob FEE° AD wodE TSRS S Frw Soyen ?
1. Polar molecules ii. Reducing agents  1i1. Low thermal stability

(BosPedag e gowrESenen @we) &3 &S00

Options:

1.1 only
Lii So{SD

1. 11111

i.id.iii (8

1.111 only

i oﬁmgﬁz
11111 only

ii.1m a‘.mi:.'aoﬁa

Question Number : 47 Question Id : 3419798196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following are the common hydrolysis products of XeF, and XeF4?

@o&; F83S8° XeF, H5chy XeFs © méa & medines |§cﬁ3 JgeD oD 7

i. Xe i1. HF 111. O, 1v. XeO;
Options:
1 1.11.111
o 1. 1V
= W, 11, IV

4 LAV



Question Number : 48 Question Id : 3419798197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The order of stability of +2 oxidation state of Cr. Mn. Fe and Co 1s:
Cr. M, Fe s28cS» Co o +2 E@r;édaa dHo {ES [EDo :

Options:

, Mn>Fe>Cr>Co
o Cr>Mn=>Co >Fe
2 Co=>Mn>Fe=Cr

4, Fe>Mn>Co>Cr

Question Number : 49 Question Id : 3419798198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following statements is correct?
Bod DICS® 26 SBRIE ?
Options:

Titanium group metals form stable interstitial metal hydrides.

: 5 5 : - 2
Beroho (18 SFen &6 wor)o80eF &5 PEE oD Yo,
., - & o &)=

Cr(III) compounds are strong oxidizing agents

, Cr(Im) 53}& Fren 220PS wl)gseaven

Mo. W differ in their properties

. Mo, Wen o8 Som06° Bogrow

Ti(IV) 1s less acidic than Ti(III)
, Ti(IV). Ti(IIm) 508 S-S wPsto swb

Question Number : 50 Question Id : 3419798199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which pair of ions has same number of electrons?

o8 TS © Jopg T SOIPSY oL b ?
A

;\‘
Options:
, Ba? 6
5 Eu. Gd™

3 2+
- Dy, Sy

1
4 Lu . YD

Question Number : 51 Question Id : 3419798200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following reactions does not occur in liquid ammonia?
Bob ICgeS® 2b wIAcH & 3OS ?

Options:

. KCl+AgNO; — AgCl | +KNO;

5 ZI](NHQ)Q + 2NalNH; — NaZn(NH») + 2INH3

5z Cul + Na — Cu+ Nal

4 BE; + NH; — BFs. NH;

Question Number : 52 Question Id : 3419798201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The correct statement regarding Fajan’s rules 1s:

TS DoHITe IBor HE0VS DI

Options:
The cations with smaller size have lower polarizing power
. S-S JBST0 MY SPLOSTID SE).S (059 o\:‘vé}g‘go el hvlela



For effective polarization. there should be high charge on the cation or the anion or
both

SR E (DS B, LHS 8o sIaS 8o Bodoed HE wbE w3Fo
Jod.

Cations with pseudo inert gas configuration have less polarizing power.

i‘mmﬁgmcﬁaﬂoﬁwoj DTLRO0 MY STLATTIR SIS (DIee D 350 Aol %blela)
53 a = -

The anions with large size have less polarizability.
BHE DBITE0 O BICTPID SE).S (DS Jotwod.

4,

Question Number : 53 Question Id : 3419798202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is paramagnetic in nature?
iy

8ot TE3S® SoPaH) 08 SoErdo Seb i Tl

Options:

, €O
. O
. NO

No*
4.

Question Number : 54 Question Id : 3419798203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The indicator which can be used to detect the equivalence point in the titration of
NH,OH with HC1 1s:

NH:OH &6 HCl &° wofafrido Iohohyd Hoger Doy & hioshed
SodBrAcoE STOE.

Options:

Methyl red
, ogd 3&



Cresol red
|§<;5'°ET 3&
o -

Phenol red
= &S BE

Phenolphthalein
; LTOS

Question Number : 55 Question Id : 3419798204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Which of the following is not correct?

Bod FES° SERIE 6 b ?

Options:
Copper is better conductor than bismuth.

S 508 o058 Hod 580

-y

(

1
Osmuium is so soft that it can be cut with a knife.

wyodo EBS® §ToNNOI0S H®HIIE

Sodium metal is a good conductor of electricity.

. TS0 S50 Hod DeEHgaSeE0

Tungsten melts at high temperatures.

, YOS ©of arse I§ Lrbebod

e

Question Number : 56 Question Id : 3419798205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
According to significant figure convention, the result obtained by adding 12.13, 19.0 and

2.014 1s:
%g’g el-{5 ;’:ot.":mﬁc:ﬁc E‘Ssr-c‘ﬁc: 12.13. 19.0 H8cs» 2.014 o5 EOLS SN

;‘«@6@:



Options:

, 33.144

33.14

o
)
[N ]
f—

Question Number : 57 Question Id : 3419798206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The molecule having Sy axis 1s:

SsesEo Mo esendd

Options:

| SiCly
> BECIQ
CCly

” XE‘F4

Question Number : 58 Question Id : 3419798207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is insoluble in dilute nitric acid?

8ol >ES° Szw JBsegHo ST KNG b6 ?

Options:

, HgS
» PbS
. BLS;

4 CuS

Question Number : 59 Question Id : 3419798208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The colour of HgNH,Cl1 1s:
HENHEC]. So:

Options:
Red
D

Yellow

e

S radag)

Black
380

White
, 3o

Question Number : 60 Question Id : 3419798209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. Number of bonding electron pairs and number of lone pairs of electrons in CIF;. SFs,
BrF; respectively are:

CIF:. SFy. BiFs ©8° 2008 aoss sowe Sog HBAH .08 NOSTS  BOW
g g

a":c:s,ag SEXMP

Options:

3L a4z 51

531 Hli 52

3% AT 51,
3.2: 4.2: 5.2
4,

Question Number : 61 Question Id : 3419798210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Arrange the following in the correct acidity order of the «-CH; protons.

808 80 0-CH [BFery S8GRS @hst [EHoS® whdios

O O O @

)J\/ M )K/F'h

, I Il
Options:

L I >0 >[

m > 1I > 1
2

I = I = I
5

1= Ik <= H

Question Number : 62 Question Id : 3419798211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Heat of hydrogenations of three alkenes X. Y. Z  respectively are -28.5. -30.3 and

-26.9 kcal/mol. Whatare X. Y. Z ?
X. Y. Z 9 S 988 © 3p[EadssS sy S5 <285, -30.3 5B
269 kcal/mol. X. Y. Z &0 9 ?

2-Methyl-2-butene 2-Methyl-1-butene 3-Methyl-1-butene
2- QB&-2-072588 2-85-1-2058S  3-Q088-1-205e8S
I II ITI
Options:
2] Y 7z
I I I
i
X ¥ i
II I 1T



I I1 I1I
3,
X ¥ Z
I I11 II
4,

Question Number : 63 Question Id : 3419798212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
An alkene P ( CsHjy) on HBr addition followed by reaction with Zn/H™ gives Q. which

can also be preparedfrom R and S. WhatareP. R and S ?
0.8 w88 P (CsHp) & HBr&® Sofeso SShard Zn/ H &° 83 STobosr Q O

2N0d. QO R Hoosw S© Hod) Lree ST 30‘53555&_3. P, R 8o S ©
ad ?

Options:
P R S
)%/ >_C] Me,CuLi
1
P R S
/]\/ (CH;);CCl Et,CuLi
=
2.
P R S

)%/ L & (Me,CH),CuLi



J\/ (CH;):CCl Me,Culi
4,

Question Number : 64 Question Id : 3419798213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is X in the following reaction ?

Bob ﬁdgesf Wl b

Br

)¢ HB1r/ROOR h
Options:

f\T)\
1.

/hri\
=

/\fj\
4.

Question Number : 65 Question Id : 3419798214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



An alkene X CgHg on bromination followed by reaction with alc-KOH and then NalNH
gave Y. Y on hydration vielded Z. What 1s Z ?

of w85 o X CHg & [(STOIES ToS Stoard ale-KOH H8c0 S

NaNH, &° ﬁdﬁﬁoﬁsm YO 29)08. Y& «fEtmo E@Q&S}éoﬂarﬁ Z &
AEYED0s. Z B ?

Options:

PhCHOHCH;

, PhCH, CHO

. PhCOCH:;

PhCH, CH,OH
4.

Question Number : 66 Question Id : 3419798215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following statements is NOT correct with respect to cyclohexane
conformations?

DETES 008rSsoR Jo20d0dS Bob AEIneS®, A& SBRSE B ?

Options:
Twist boat conformation 1s free from angle strain .

| DOE DES S HErSES® §¥80% SiesSCiEteT=Aat

Chair conformation is free from torsional strain.

H 3

$8 9DHERSES® DT (HOTRS Sodth
o -

Boat form possess Pitzer strain.

] 58S ErSost 3;&,::;5 SCTS @oewod



Boat conformation 1s free from van der Waals strain.

DES WHETIES® Fodd FO SOTS &0
4

Question Number : 67 Question Id : 3419798216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What are X. Y. Z in the following conversion?

Bod SB1AS° X.Y.Z &0 O #7

DX: 1Y
Benzene ) W - m- Nitrobenzoic acid
Do D 1) Z - PS5 BOE oné esao
Options:
x 4 s
CH;ClIAIC], HNO;+ H2504 KMnO,/OH:
H;O"
1
A X 7
CH;ClV/AIC]; KNMnO4/OH: HNO; +
H;0" H>SO4
57
A X 7
. HNO; + H,804 S/ HC1 CH;Cl/AICL
X X Z
HNO;+ H,S80;4 CH;Cl/AICK RCOs;H

Question Number : 68 Question Id : 3419798217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Identify the correct matched pair from the following

808 SES® SBT S IEITVES mowrD MHBoToh.

Substituent on benzene Influence on

e s benzene
ToES B (DBEDE0

I -OMe M & -I
I -NO, +M
IIT -NHCOCH; -M
IV -CHO M
Options:
H
1.
5 E HE
3 IV
3
I, IV
4,

Question Number : 69 Question Id : 3419798218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Major product from the following reaction is

Bod IE5ST AT (SrS aS N0

Ej\ NBS
hv

Y

Options:



o~
¥
S

Question Number : 70 Question Id : 3419798219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The product from the following reaction and mechanism of its formation are

Bod -&‘55@‘5 33(‘5;3 SN0 HEc  IE; Do
L = d

e
i B —

2

H H
Options:
= . . SN2
1.
-
H H -+ SKNT
2,
H
we VM s
H OH



Question Number : 71 Question Id : 3419798220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
2- Methyl-2-butene on reaction with BoHs /H,0,."OH gave an alcohol X. Which of the

following reactions give isomer of X which is a tertiary alcohol?

>

2-8085 2207538 B,Hs/Hy0,. OH ° 385 2388 X & 2:008. $od & 3658° X

n

= o = - it
Lol e md;,dé:d:@&. b Bgcﬁao -:-59.}{_;_;’?

. /Y ¥ MeMgBr, H;0*

o

i /W/ + dil. H,S0,
1 f\T/ +  dil. HyS0,

Options:
LI
L
oL,
1, Ik Wl

Question Number : 72 Question Id : 3419798221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following conversions represent Kolbe reaction ?
8ob ) ctiﬁ&;& §“’§J S D508 ?

Options:
Phenol — Salicilaladehyde .

&TE — FORrTFE
1. 2



Phenol — Anisole

, &FE — JOV°S

Phenol — Salicylic acid.
. &S — FOROE so
Phenol — Picric acid
&S — BBS sgho

Question Number : 73 Question Id : 3419798222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

1-phenoxypropane can be prepared from which of the following reactents ?

] &8y DS S (80d @ Borudse Hod Saieed FoHas

Tt

Options:

PhOH/ NaOH + CH;CH,CH,Br

, CH:CH,CHOH /Na + PhBr
CH;CHOHCH;/Na + PhBr

, CH;CH,CH,OH + PhOH/NaOH

Question Number : 74 Question Id : 3419798223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Match the following
Sod e ms J8Tod

List-I 3=&)es=-1 List-II =& ex=- 11
A >:NDH I Phenyl hydrazone
38 =r|sEcS
B ><OR I ijmeM
OH —
Egn]ﬂ::
B >:NNth 1 Semucarbazone
%&Sﬁd&ﬂis
D >:NNHCDNH2 IV Acetal
adird
V Hemuacetal
; TDABETS
Correct answer 1s
DBONS B3Te2w
Options:
A B B D
. Vv IV IT |
A B C D
Vv I1 11 I
2|
A B e D
s M AY I 11
A B & D
11 Vv I 11
4,

Question Number : 75 Question Id : 3419798224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Identify the following reaction

Bob SE3H oIk

0 CH(CO,Et),

Ph/vl\ S i S ACOE

ii. CH,(CO,Et),

Options:
Michael addition

1 28 SoBeso

Mannich reaction
) ﬁ."ﬂg:ﬁﬁ 363
Knoevenagel .condensation
. SEISRE JoSSo
Perkin reaction
P 20 63

Question Number : 76 Question Id : 3419798225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify Y in the following reaction sequence

Bod SE0 IES® Y O HHBoSos.

; . P05
Propionaldehyde Oxime ——— = Y
Doar>Birs 2SN

Options:

CH;CH,; CH,CN
i

, CH;CH,CN

. CH;CH, CH,OH



, CHsCH,COOH

Question Number : 77 Question Id : 3419798226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correq Marks: 1 WrongMarkg:O ) .
Which of the following pair represents enantiomers ?

Bod @ 3 AITYIPIrE 0 SrEdGTow ?

CHs; CH3 CO,H CH,
H——CO,H CI‘FH HaC——H H+CI
iT CO,H Jg CO,H

! I 1l IV
Options:

I, III
I, IO
2
=1 W
T

Question Number : 78 Question Id : 3419798227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In which of the following conformers. dipolar repulsions are present ?

8ot o WHETIsEoS BIDS DEGeoen &oLon ?
Options:

H
Cl

Cl



5 H
H

Me

Me
4. H

Question Number : 79 Question Id : 3419798228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following represents the correct order of aromaticity ?
Bod Q EDn I8P AT SrBHED SOKT oW ?
Options:
Benzene > anthracene > naphthalene
BodS >  woShS THOS

b

W
W

Benzene > naphthalene > anthracene
BodS > RO > wolshS

2
Anthracene > naphthalene > benzene.
. Wold®hS > 50T > B[odS
Anthracene > benzene > naphthalene
0[RS > BodS > HOS
4

Question Number : 80 Question Id : 3419798229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The major product from the following reaction and mechanism of its formation are

Bod FES° ANE (Se e)o Hoake = Fooy DeeSo

Me
T7< NaOMe
Me T e
O MeOH

Options:



Me/)\/OH SN

O. Sn2
Me/l\/ Me &

Me/}\/GH o

Question Number : 81 Question Id : 3419798230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following statement 1s correct for the phenomenon of photoelectric

effect?

5208 QgSHr (S8 Sowokod Bob FHS® $58QpI8 b ?(a) The

Options:
The kinetic energy of ejected electrons depends upon intensity of the incident
light but varies linearly with its frequency

2 (SEc0S® 300t dogdSe M8 E vhIs JodoS w08 Swg 7
S5 BECHE 40008 HBA 508 FIYIgS0 e BhocHorr
SN0 b.

The kinetic energy of ejected electrons 1s independent of the mtensity of the
incident light but varies linearly with its frequency

Q—Egﬁﬁ} 8z 3§ o8 gy 879 SEeS B SEICs 2085 = 5508
T I8YSge0 §° Bhovorr S0



Kinetic energy of ejected electrons is independent of the intensity of the incident
light as well as frequency of the light

N0 S0 (8xIY 08 g SO Bgpd P Do D SHYIZN P WEFES
S0880.

d) The number of ejected electrons from the metal surface 1s independent on the
intensity of the incident radiation
S5 #5080 Hoc IWSE Q0 FS© Jopy S°0d X $°O BEpS B

y SRS S0,

Question Number : 82 Question Id : 3419798231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The radii of the third orbit of hyvdrogen atom 1s (a, = 0.53 A)

LE RS SEITenY SrES S5y ) Ty &5 wses® (a, =0.53 A)
20 7

Options:
. 159 pm

> 212 pm
- 477 pm

, 106 pm

Question Number : 83 Question Id : 3419798232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A cricket ball weighing 100 g is to be located with 0.1A. What 1s the uncertainty in 1ts

5. 5 22
velocity inm.s™ ? (7 = =) .
100 (rasow (835 22080 0.1A D&y ErEHS® EDHADLH IR

~

-1 s 22
PSS R o o8 (rr:?).

Options:

1 27 A0

ST kA0
e

57 k10"
)

, 527 x 10

Question Number : 84 Question Id : 3419798233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following expression 1s not the correct form of deBroglie’s equation?

Bob ,8E° QB &F°) SAeECER) JoDoW ?

Options:
h
A=——
1 mV
. h
b g
& P
4 h
Am—
2 N 2mE
: h
A——
4 AE AV

Question Number : 85 Question Id : 3419798234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



At what temperature the average velocity of oxygen equals that of hydrogen at 20K?
D &8RS 3¢ w8inS weng o) J0°58 ISy 20K &5 KS S§ PSS
B9ENSE DTS DI0b ?

Options:

. 320K

160K
2

39
2 WP g

, 640K

Question Number : 86 Question Id : 3419798235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
. : E 2
The Vander Waals constants of a gas are : a=0.751 dm® . atm . mol ™~ and

b=0.0226 dm’.mol . Its P, value is
2.8 o0y BE) okl & dorosce Denden SKHSr a=0.751 Z0ac .
QETHRCHE . S " B0 b=002262.9¢ . 28 esonSSt Tala L et

(P Denss

Options:

. 0.0678 atmn
o 54. 5 atm

=% 0.375 atm

N 0.751 atm

Question Number : 87 Question Id : 3419798236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The two liquids A and B are such that A ahs half the surface tension and twice the
density of B. If liquid A rises to a height of 2.0 cm in a capillary. what will be the height
to which liquid B will rise in the same capillary?

A Do B w3 [Eres®, A Sug) SodSd B Q) SodSis® S
B A &) Fo[fS B Bws) oSS Soff Befosy. ErRES® A (B 2.0
0.3, A DOASHD 8 TETOES® B ([EI0 Q08 A 2O ?

Options:
1 4.0cm

5 2.0cm

Question Number : 88 Question Id : 3419798237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The number of moles in one dm’ of water is

0.8 B0 . H8S® 202 o Sogg
Options:

; 18
5 1

100

h
n
N

Question Number : 89 Question Id : 3419798238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The liquid mixture which boils at a constant temperature and distils over completely
at the same temperature without change in composition is called as

08 (55 (FDeo §S 4RSS 5§ HBA 98 RS S§ SoHwISw IrEHo
BUEID J08 DFDITY) Do ?

Options:



Eutectic nuxture

| CHSEE Doty

Azeotropic mixture

NERRTLE DofFeasd

3 =
Boils mixture

ond D[F D0
3

Immuscible solution

@&3@’85053 (P Seasso

4

Question Number : 90 Question Id : 3419798239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A 3.42% solution of sucrose (mol.wt 342) 1s 1sotonic with the solution of

3.42% rES 5ORS 53@55? @vﬁmé‘" S50 BPDISes &-éﬁ”@% SOAY (aPaSea0

Options:

0.1 m NaCl

0.1 m I8 FB&cHo §8&
1:;

0.01 m urea
, 0.01 3rer8 ohrBose

1 0.05 m KCl1

_0.05 3red TERACHD EBE

0.05 m Glucose

, 0.05 38 frstE



Question Number : 91 Question Id : 3419798240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Ebullioscopic constant value of water is

Hed aﬁﬁﬁﬁoﬁ*d&@ Borosan Hends

Options:

. 1.85 K. Kg.mol™

18 K. Kg.mol™
2:

. 0.512 K. Kg.mol”

, 100 K. Kg.mol™

Question Number : 92 Question Id : 3419798241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Total number of symmetry elements in a crystal are equal to

FOTQ 0D

2.4

3 B8 D Fogeo &

L&

Options:
1. 13

5 23
> 9

43

Question Number : 93 Question Id : 3419798242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Calculate the Miller indices of crystal planes which cut through the crystal axes

at2a_3bc

ﬁg,éﬁsﬁggéwm 2a,3bc ™ Ko 88 Jedn SuE. ed SrdFeD e?éa_c}auo&.

¥, o~

Options:
, 231



326

Question Number : 94 Question Id : 3419798243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

KCI - NaBr — H,O system 1s an example of component system.

KCl — NaBr - H,O géa;_ Q) SOEISTO goﬁaég: SFTED 7
Options:

, 4

Question Number : 95 Question Id : 3419798244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The process of raising the relative proportion of silver in the alloy 1s known as

FS 0SS Be0d o8 SoDIIH0 203 S8eHD NeDOLTE ?
Options:
metal extraction

. S5 0|0

Pattinson’s process

FESIS HG8

z



Wilkinson's process
5o 5 =

Oxidation process

w8356 (S8

Question Number : 96 Question Id : 3419798245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
When a strong beam of light is passed through a colloidal solution, the light will
8L =08 Jod) Frond (I Do JodIHE « =of
Optio‘ns: |

be scattered

| SBREDIH0E

be reflected
DOPIEITD TODROE

e

be dispersed
y DESHS DI

pass unchanged
SRER0E (D20 0b
e

Question Number : 97 Question Id : 3419798246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
For the precipitation of negatively charted arsenious sulphide Sol. which of the
following ion is more effective?

20T N E 83T fo wBIVDHS <pl3 PSDH wIFDeS SoHeds & Bod )
BWASTS &S DY ITHod ?

($) N = 8
Options:

B32+
1



. PO

+3
=. Al

8

Question Number : 98 Question Id : 3419798247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

X
In terms of the amount of the substance adsorbed per gram of the adsorbent {— ] .and
, 1

pressure "p" of the gas, the Freundlich adsorption 1sotherm is represented as

m )

; o _ 4
o8 (P SBTLED, MBI ITESH B BT RSDIHE LH HBcE p"

ey

OHIE PO LETY) SrTR, BoddS wbF e Sy B Bod HFSwe

"
pCoitalvile®
Options:
xr Kk
_ M
m
1 p
¢ 5 W M
p=kl—
\m
o
v 1
—=k.p"
m
z
y n
Y | fr]
m \p,
4

Question Number : 99 Question Id : 3419798248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Laboratory equipment best suited to measure the surface tension of a liquid is

28 (S5 B SoSIHID STosad E’;&uﬁﬁaﬂeeﬁ* T HBEGS



Options:
graduated cylinder

oo dbookd

1
Pyknometer

&85 oS
= ol

Stalangmometer

FON®) EsH
g g

Viscometer

, R areb

Question Number : 100 Question Id : 3419798249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Nano particles size 1s measured by which of the following instruments ?

& 808 o JBEENS® ST P ATBOTSIH) ?

Options:

Scanning Electron Microscope (SEM)
1

. Transmission Electron Microscope (TEM)
5 X-ray diffraction (XRD)

A Differential Thermal Analysis (DTA)



